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PART 1: 40 marks. Answer ALL the questions. Each question carries 2 marks. 

Circle the correct answer. For each question there is only one correct answer 

1. Simplify the expression 3(x + 1) -2(3x + 7).

A. -3x-11 B. -3x-10

2. 15% of 1080 is :
A. 161.20 B. 162

x-1 2 3. If - = - , then solve for x: 
3 3 

A. 4 B. S

4. 1/Si is equal to

A. 2 B. 4

C. 

C. 

C. 

C. 

-3x-8

322.40 

3 

3 

S. If f(b)= (-b�-�b the value of f(-2) is equal to

A. 34 B. 38 C. 44

D. -3x + 17

D. 3224

D. 2

D. 9

D. 42

6. In a single throw of two dice, the probability of getting a total of 9 is :

A. 1/6 B. 1/9

llC 7. The value of 3 is equal to
A. 990 B. 165

C. 1/ 36

C. 175

8. The median of this data 2, 3, 1, 6, 4, S, 7 is

A. 3 8. s C. 4

3 

D. 1/12

D. 99

D. 6

0 SL NEC 8, 2018 
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9. A pair of shoes is priced at $45. During a sale the price is reduced by 20%.
Calculate the sale price of the shoes.

A. $36 B. $24 C. $ so D. $12

10. 

For the right angled triangle shown above, the value of sin9 is: 
a 4 a s 

A. 8. C. - D. 
s 5 4 4 

11. The gradient of the tangent to the curve y = x2 at the point (2, 4) is:

A. 5 8. 3

12. Convert 60° Into radian:

A. 
'If 

13. The value of

A. 3

8. 
2,r 
-

3 

log8 

log 2
is equal to: 

8. 2

14. Simplify (3i - 5) + (i + 8)
A. 2i+13 8. 3i

2
- 3

C.4 

C. 
7C 

D. -

3 

C. 5 D. 

C. 4i+3 D. 

15. If f(x) 3x + 2 and g(x} = Zx - 1, then f g(x) is equal to:

A. 6x-3 B. 6x-1 C. 6x+ 3 D. 

4 

D.2 

2 

4 

3i+3 

6x 

0 SLNECB, 2018 
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PART 2: ANSWER ALL QUESTIONS. ( 60 MARKS) 

Cen.ificate of Seoond.Jlry Education 
Mathemalics Peper 1wo. 20 t 8 

1. A trader bought 360 eggs at sh.5 each and sold them at sh.6 each.

a) Calculate the profit he made on the sale. (3marks) 

···································································································· 

........... ' ................................................ ' ............ ' ' . ' ...................... . 

.. . . . . . . . . . . . . . . . . . . ... ....... ······ ... ······ ........................ ············ · · · · · · · · · · · · · · · · • · ·  

··················································································•�················ 

. . . . .  · · . .  · · · · · · · . .  · . . · · · · .. &ontat,schootJ: 011tiMe .......................... .

b) Find his percentage profit. (3marks) 

............................................................................. , ................. , ,  ... . 

···························································•········································ 

··········································· .. ························································ 

····················································································•·•·············· 

·······························································•·············•······················ 

2. Find

a) Lim
.'t'-+ 2 

(3 marks) 

···································································································· 

..................................... , .............................................. ······ ·········. 

· · · · · · ·· · ······ ... ········· · ·· · · · · · · · · · ...... ····· ....... · · · · · ·  ...... ········· ...... , . . . .. ·····. , . .  .

. .. ....... .. . . ········ ............... ·······•· · ··· · · · · · · · ·  ........... ' ........ ·•······· .... ····· ...... . 

········· ..................... ············ ········· ..... , ········· .... ' .... ··•··· .. · · · · · · · · · · · · · · ·· .. . 

.... .. .. , ······ ........... ····�···· ....... ············ ............ ············ . . . . .  ······· , ......... . 

. .  . . .. . .. . . . ..... , ............... ······ · • · · · · · · ·  ............ ' ...... , ........... ····· ... ············· 

6 0 SLNECB, 2018 



Somalltand NationaJ ExaminntiQn Board 

b) Evaluate Lim 
x➔ 2

x
2

- 9

x-3

Ccrtitkarc orSecondat)' Sduoation 
M:nhemntics Pap�r- two, 2018 

(3 marks) 

• • • • • • • • • • • • • • • ' • • • • • • • • • • • • t ' • • • • t • • • • • ' • • • • • • • • • • • • • ' • ♦ '  • • '  • • • • • ' • • • • • t I I • • • • • • • • t • • • ' • • • • • • • • • • • ' 

• • • • • • •• • •• • • • •••••••• • ' • • •  ' • • •••• ••••• • ' •• •• • •••• • ••• • • • •••• • • • • • •• • • 4 • • • •• ' • • • •••••• • •• • • • • • • •• • • • 

• • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • I • •  I ' • • • • • • • • • • • ' • • • ' I o • t • • • • • • • • • • • • • • • • t • • • • • • • t • 

• t • • • • • • • ' •  • • • • • • • • • • • • • • • • • • • t • • • • • • • ' • • • • • • • t t • • • • t • • • • • • • • • • • • • • • • • • • • • • • • • • • • l • • • • • • • • t • "  • • • • • • • 

· · · · · ·· ···· ··· · ·· · ··· · · · · · · · · · · ·  .. · · · · ··· · ·· ··· · · ·�· · · · ·· · · · · · · · · ·· · · · · ··· · · · · · ·· · · · · · · ···· ·· ·· · · ···· 

3. A curve has equation y = 2x
3 

+ 3x
2 

- 36x + I

a) Find the gradient of the curve at x = 0 (2 marks) 

... ............ ,,,, ........ ..................................... .................................... ,, ........................................ ,, ... .

... ,,, ..................................................................... ,, ............... , ..
.............. ,, ................................... .

............ ............... ..................... ,, .......... ,,, ............ ''' .................. ······· ............... , ........................... ..

...... ............................... . . . ...................
..... ..... .. ........................ ............ ....

.............. ,,, .................... .

... ............................ ,,, ........................... ......... ,, ......................... ·········· ..
................ ''' ................. .

... .............. , ........ , ......... , .. ,., ............ ''' .................................... ,, ........ , ..................... . , .................. .

b) Find the coordinates of maximum and minimum points (4 marks) 

......................................................... ,,, ......... .............................................................................. .

...... ..................... ''' ...... ........................................ ........................................... ,, .........................
. .

... . ... ... ''' ... ''' ... ''' ''' ......... ' ... ' .. , ... ' ... ' .. '' ......... , .. , .... '' ... ' ...................................... ' ..................... ' .... ..

... ,,, ............ ,,, .................................... ..................... , .............. ,, ....... ....... , ........................
........... ..

"'''' Ut•H•" "'•"••• •oo .. ,,,. ••• H•••• Otl ,., .. ,.,.,,, ., . ,..,., ..... .,,. ......... ,., .. , •oo•oo•••••" .,, ...... ,, .... ,., ........... , ...... .,.,,, • ., 

.......................................... , ... ,, .......................................................
.................... � .................. ,,, .. .

.... ...... ...... ...... ,.,, ....... , ..........................................................................
............ ..... .................... .

.. ,, ................................... ''' ... ......................................... , ...... , .................... ... ' ' '  .......................... .

7 
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4 If d /3 t I h h S. 
12 d C /J 4 . h 

. 
. a an are acu e ang es sue t at ma= -an os = - w1r out usmg a 

13 5 

calculator or tables 

a) Find sin(a + (J) (4marks) 

I••'"♦••'''" o ••••••I'' o • I ♦O'' •• ooo o' • 0 •O ••• ,oo I"'°''" 00 • o,o o • ''°' o" o'' oOI '"'II O•o I •O'' "'''"I '" o' o,O•O' • ••• ,o' o,o o,o "' ••• •' o "''''"' "' H• 

O••••• •00••• "' '°' oo• ••• •" • • • •• •••• •• • "' • • • '" •••• ••O "' ot I" O "• oo • oooUI • • • •" "' •" '" ooO • •• ,,. 1" •I• o, I.,,,, o, ,,., , ••• ,,o 1,, o,o ,., o ••••• "' ••• 

....... '.' ........... ' ...... ' ....... , ..................... '' ....... ' .... ' ... '' .................. ' ......... ' ... ' .. ' .. ''."' ... '" ..... '''' ........ .

. ''. ' ........ ''' ... ' ........... ........ ' ....... ' ... ' ... ''' ...... ' ......... '' ...................................................... ' .. ' ... ' ....... '

...... ..... ........... .. ....................... , ........ ..... *! ... .. ....... ... ................. . . .... , ....... ,, ......... .......................... . 

............... .................. ... ... ......... ,,, ............ ''' ······ ··· ............... ,, ............. ,,, ... ,,, .................. , ............ ..

b) Flnd cos(a -P) (2marks) 

......... ''' .......... '' ..... ' .......... '' ...... ' .......... ' ........ ' ........ ' ......... , ................... ' ........ '' ........ '' .. ''. '' ...... ' .... '' 

., .. ., ,,.,., ... .,,,., ., •• ., , "•,'•"'"to•,,•.,. "'•',' • .,,,,,.,,.,',. • .,"',,•"•," •u •",,, .. , • .. ••  • ... ., , •••,,•,., ,I•, .. •",,,.,•••• • • • ,.,.,. .,, 

............................ ......................... ,, ,,, ................ , .......... .... ,, ...................... .................. ...... ,,, ..... .

... . ... .......... '' ....... ' .......... ' .. '' ......................... ' ... '' .... ' .... ' .... ' ... ''' .. ' ...... ' ...... '' ...... ' ... ..... ' ... ' .... ' ........ .

... ,,, ...... ,,, .............. , ........................................................................... ·•······· .... , ....... , ................... .

,, ............. ,,, .................. , ...... ,,, ........................................................ , ................... ......................... .

S. a) A small company makes a profit of $8000. This is divided between the

directors: Ahmed, Amina and Osman in the ratio 7:5:4 respectively. How much 

money will Amina receive 7 (3 marks) 

............. ''' ... ,., ......... , ....................... ,, ....... , ......... , .... ,, ................... ''' .......... ········· ..................... ,, . 

...... ,,,,, .................. , ....................................... ,,, ...... , ..... , .................... ·········· .. , ... ,, ... ................... ..

...... ........ , .......................................... ,,, ...... , ..........................
......... , .............. , ... ''' ..................... ,,,

.............................................................
.................... , ....... , .... ''' .................... , ......... , .......... , ....... ..

'". '''''' ...... , , .. '' ................ ' ........... ''' ........................ '' ......... ' ... ' ........ ' .. ' ..... ' .. ' ...... ' .. ''' ... ' .. ' ..... ''' ... "' 

... '.' ...... '' ........ ' ............. ''. ' ............. ' .... '' ..' ....... '' ....... ' .... ' ............................... ''.' ... ' ... '' ... ' .. ' '  ... ' .... ..

8 0 SLNECO, 2018 
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b) The weight of 10 form four students were found to be 55, 62, 51, 491 65, 59,
67, 60, x, 61. If their mean was 59, find the value of x. (3 marks) 
.......................... ... , ..................................................................... . . ................. ... ..................... ,,, .. .

.............................. ,, ................ ········"••···· ..................... ,, ......... , ...... ,, .......................... , . ............ , ..

'''.'' ......... , ........... ' ........... ' .............. ' .. ' ....... '' ......... '' ... '' .......... , .......... ' .. ,, ................. ' ....... ' ' '  ... ' ... '' 

..... . ................................. ...... , ..... ''' ............................................................ , ................. .............. ,

6. Iff(x)=3x+2

a) Evaluate [(4)

and 
() x+S. g X =--. 

3 

·· · · · · · · · · · · · · · · · · · · • · ·· · · · · · · · · · · · · ·· · ··· · ·• · · · · · · · · · · · · · · · · · · · · · · .. · · · · · · · · · · · · · · · · · · · · · · · · · · ·· · · · · 

· · · · · · · · · · ·· · ··· · · · · · · · · · · · · · · · ·· · · · · ·· · · · · · .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  .

. ,., .. . . . . .. . . . . . , · · · · · ·  . . . . . . . . .  · · · · · · · · · · · · · · · • · ·  . . . . . . .  · · · · · ·  . . . . . . . . . . . . . ' . . . . . . . . . . . .  ·• · · · · · · · .

· · · · · · · · · · · · · · · · · · · · · · ·· · · · · · · · · · · · · · · · · · · · · · · · · · · · · • · · · ·· ·· · · · · · · · ·· · · · · · · · · · · · · · • · · · · · · · · · · · · · · · · · 

· · · · · · · · · · · · · · · · · ·  . . . . . . . . . . . . .. . · · • · · · ·  .. · · · · · · · · ·  . . . . .. . . . . . . .. . . . . .. · ··· · · · ' . . . .  ' . . . . . . . . . . . . . . .  . 

(2marks) 

b) Find f-1 (8)

· · · · • · · · · · · · ·· · · · · · · · · · · · · · · ·· · ·· . . . . . . . . .  , . . . . . . . . . . . . . , . . . . . . . . . . . . .
. . . . . . . . . . .  , . .  ··•··· · · · · • · · · · ·

• • • • • • • • • • • • • • • • ' • • • • I O o • • • ' ' • • 0 • • • • • • • • • • I • j • o o • • • • o o I ' I • • • • • • t • • 0 • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • 

. . . . . . .. . . . . . . . , . . . . . . . .  ' '  . . . . . . . . . . . .  ' . . .  , . . . . . . . . . . . . . . . . . . . . . . . .  , '  . . . . . .  · · · · • · · ·  . . . . . . . . . . . . . . . . .

. . . . ' . . .  ' . . . . . . .  ' . . . . . . . . . . . ' . ' ' . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ' ' . . .  ' . . . . . . . .  ' . . . .  ' ' ' . . . . .  '

· · · · · · · · ·  · · · · · · . . . . . . , . . . . . . . . . . . . . .  · · · · · · • · · · ·· · · · . '  . . . . . . . . . . . . . . . . . .. ' .  · · · · · · · '  . . . . . . . . .. . .. , . . . .

(3 marks) 

c) Find f g(x)

·· ·· · · · · · · · ·· · · · · · · · · · · · · · · · · · · · · · · · · · · · ·· · · · ·· · · · · · · · ·· · · · · · · · · · · ·· · · · · • · · • · · · · · · · · · · · · · · ·· · · · · · · · · 

• • • O , • • • • O • • • • • o • • • • • • • 0- • • • , • • • ♦ • • • • • • • • • • . t • • • • • • • • • • • • • • • • • • • o .  • • • • • • • • • t • I • • • • • 0 • I I o • • • • • • • • • • • • • 

., .. ' ' '  . . . . . . . .  · · · · · · · · ·  . . . . . . . .  ' . . .  · · · · · ·· · · · · · · · · ·  . . . . . . .  , . . . . . . . . . . . .  ' . . . . . . . . . . . . . . . . . . . . . . .. . . .

' .. · · • ·  .. . . . . . . . . . . . . . . . . . .  ' . .  , . . . . .  · · · · · · . . . . . . . . . . .. . . , · · · · · · · • · · · · ·  . . . . . . . . . . . . . . . . . . . . . . . . . .. . . .

' • • • ' • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • ' • • • • • • • • I O •  • • • • • • • • • • • • • • • • • 0 • • • • • • • • • • • • • • • 
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7. Find the area bounded by the x -axis, x = 2, x = 4 and the curvey = x3 + x.

(4 Marks) 

y 

X 

• • • • • • • • • • • j • • • • • • • • • • • ' • • • •  ' • • • • • • • • • • • • • ' ' ' ' ' ' • ' ' • • • • • • • • • • • • • • • • • • • ' • • •  ' ' • • • • • • • • • • • • • • • • • • • • • • • • 

. . . ... · · · · · · · · ·  .. . . .. ' . . .  ' ' . . . ... . . .  ' '  . . .  , .... . . . . .... ' . . . . . .. . . . .  ' 
· · · · · ·  

. . ... ' 
· · • • · ·

·
· 
... ·········· 

···································································································· 

. .. . . . . . . . . . .. .. .. . .. ''' . . . .. . . . ' . . .  ··················' . . .. ' . . . . .. ,, . . .  , . . .  ···•·· ··········••4••···· 

. . .  ' ,  .. , . · · · · · · · · · · . . . . . . . . ' ' ' . ...... . . .. . . . .. ... . .. ' ' '  . . . . .  , . . . . . . . . .  ' .... . . . ... ' ··············· ... ' 

·················' ···•·· . .  ' .... ..... . . .  ' ' ' ················ .... . . . .  ' '  . . . . . . . . . . . . . ' '  . . . . . . ' ' .' ' '  .... . 

. .. .. . ' .. ' .. ''' ... ··•··· .... .. . . ... . ··························· · · · • • ·  . . . .. .... , ..... ' ' ' ··········••· 

8. Evaluate J: (3x2 
- 2x + l)dx (6 Marks) 

''' "' •••n,, ......... ,, '" "'"••••••• •"H"'' •• .. •••••• .... ,,,.100•.,••• •••oo•'"'°•••• ••••••"" "' "••••••• 1f1 ••• •"'''''' , .. , ,,  ... ,,,,.,,., .. . 

...... ..................... ...... ... ............................ ..................... .................. , ......................................... ,,,

............................................................. ,,, .................... , ................... ,,, ...... ......... ,,, ... , ............... ..

' .... ' ............ ' .... ' ............ ' ....... ' ............ ''  .... ''' .. ' .... ,' ......... ' ... '' ... ' .. ' .. ' '  .... "' ... ' .. ... ' .. ...... '' ............ ' .... ..

... ... ...... ... ' ........... ''.'' .. ' ... ' ........ ' ............... ''' ...., .... ... ''' ..... ' ....... '' ............ ' ......... ' ... ' ................ '' ...... . 

........................ ... ,, ...................................... ,, ............................... , ........... ,, ............. ,,, ................ .. 

'' .. ''''' ............... ' ...... ' .. '' ...... ' ...... ' .............. '.' ... ' ........... '' ... ' ....... ' ... ' .. ' ...... ' ..... ' .. ' ......... '' .... ' .......... . 

..................... .. , ............ ''' ''' .......................................... , ........ ,,, ................................................. .. 

............ ...... ............................................. ............... ...... ............ ''' ...... ... ,, .. ,, ,, .............................. . 
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9.a) The parallel sides of a trapezium are 13cm and 11cm. if the area of the

trapez_ium is 84cm2
• Calculate the height of the trapezium. (3 Marks) 

..................................................................................................... , .............................................. . 

... ......................... ..... ............... ....... ... ,u ...... ............ , ..... ............ ......... ...... ... ...... ...... ...... ······ ........ . 

............................ ............... ............... .................................... ......... .......... ............... ............ ..... .

................................. ............ ... .......... ...... ..................... ................... ... ..... .... ...... ... ......... ... .......... ..

.... ........................ , .................................................................... ............................ .................... . 

... ......................... ......... ...... ......... , ............................................ ...... ' ......................................... . 

... ... ...... ' .............. ' .... , ......................................... '' .............................. .-, ...................................... .. 

... ...................... ... ...... , ......... , .................................................................................................... . 

........................................................... , ....................................... ...... .............. , ......................... .. 

... ... . ..... .. ' ................................. ''' .................. '' ......... ' ......... ' .......................... ' ... '' .. ' ...... .............. . 

20 · 20 20 • 20 b).Prove the following identity: tan - sm = tan sin (3 Marks)

.......................................... .................................... , ........................................................... , ........ .

, ..... ' ........... ' ..... ......... ....... .. ' ....... ' ....... , ................. ' .......... ......... ......... ........ ' ......... •1 • ............... .... . 

... ... ' .. '' ....... ' ..... ' ................. ' ... . ... ' .................... ' ......... ' .. ,u ................ ' ........... ........ '''' .................... . 

. . . ... ''''' .... .................. .. , ......... ' .. ' .............................................................................. ' ........ ... ' .. ' ... ..

,,. • "•"•••• .,. "• • • • .,. oo• • • .,,, "• • • •" • , .  •• • • •' • •••" • •" ••• ,,. • .. • • • •' • • • • ""'" "• ... H •"' .,. .,. • U • • • • ••• .. • �",. • .. • • • • • • • • • • .. •" • '"' • • 

, ................. ' .............. ........... ' ................................. ' ...................................... ' ................... "' ....... .

............................ ............ , .........................................................................................
............... ,

...................... .................. .. . ...... ...... ......... ........... ............. ....... ...... .. ...... .... .. ....... 01, .................... , 

............... ''' .......... ......... .. . .. . ........ .. ...... .................. ......... ........... .... ....... ' . t i  .......... ' ...... ... ...... .... ' .... ' .. 

.... ..................... ............... ... ............ ......... .................................... ... � .......................................... . 

...... ............... .................. ........................ ..................... ............ ... ..... , , .. , .................................... .. 

...... ......... ............ ...... ............ ......... ......... ........................ ......... ... ............... ............ ...... ... ......... .. . 
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10. An aircraft has 120 seats for passengers. The number of seats occupied during

100 flights Is given below

Number of seats Frequency 

100-104 15 

104-108 18 

108-112 34 

112-116 16 

116-120 17 

�f= 

a) Complete the table

b) Which is the modal class?

c) Calculate the mean seats

Mid-point x fx 

}:fx =

(2 Mark) 

(1 mark) 

(3 Mark) 

............................. , .................................. ,, ......... .......... ,, ............................................................ . 

,,, ... ,,, .. , ........................ ''' ........................ , .......... , ............. ,,, ... , .... , ...... ''' ..................... ,,, ........... , .. .

... , ..................... , .... , ............ ,, ................... , , ,  .................. ,,, ............ ''' ....... ,,, ,,, ' '' ......................... ..

···•········· ..................... ............ ·····••"'·· ......................................................................................... .

...... .............................. ................................................ ...... ..................... ........... , .................
....... .

...... .............................. ................ ............ ... ............. , ................... , .........................................
..... .

......................... •◄ ............. ,, •• u ... ........................... ... ...... ... ......... ..... , ... ................ ......... ...... ........ . 

.................. ......... ..................... .... ........................................................... , ........................
.......... ..

.

······· ··•"'"•"'"'·••oo• ... ··•••• .............. , ........................... , ................................................................. .

................................. ................ , ......................... , .................... , ................................ ,, ......
...... � .. .
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